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TECHNOLOGY
Internal Assessment Test — 3
Sub: Renewable Energy Resources Code: 21EE652
Date: 30/07/2024 Duration: 90 min Max Marks: 50 Sem: 6 Section: All Branches
Answer ANY FIVE full questions. Explain your notations explicitly and clearly. Sketch figures wherever necessary. Good luck!
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Q1. Define biomass. Give a descriptive classification of biomass resources and mention the main
advantages and disadvantages of biomass energy?

Q2. Compare fixed dome and float drum type bio digesters. [10] CO3 L2

Q3. Classify wave energy devices. With neat sketches, explain the different types of wave energy
devices used to harness wave energy.

[10] CO3 | L2

[10] CO4 | L2

Q4. With a neat diagram, explain the working of single and double basin tidal power plant. [10] CO4 L2
Q5.  Explain Carnot efficiency for an OTEC plant with the help of a thermodynamic cycle on a T-S [10 O3 Lo

plane. ] o -
Q6. With a neat diagram, explain the principle of ocean thermal energy conversion [10] CO4 12

CI CCI HOD/EEE
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